
1) (10 x 109) / (1 x 42)

Answer: ____________

2) b

a o c
Measure angle boa 

Answer: ____________

3) Find the percentage change from 46 to 
69

Answer: ____________

4) Round 20.3132136 to the nearest 
whole number.

Answer: ____________

5) Find the mode of the following set of data:

78, 78, 78, 37, 37, 37, 37, 37, 37, 
37, 99, 99, 99, 99, 99, 42, 42, 61, 
61, 61, 61

Answer: ____________

6) Find the mode of the following set of data:

78, 78, 78, 37, 37, 37, 37, 37, 37, 
37, 99, 99, 99, 99, 99, 42, 42, 61, 
61, 61, 61

Answer: ____________

7) b

a o c
Measure angle boa 

Answer: ____________

8) 988 + (-566)

Answer: ____________

9) 50 x 10

Answer: ____________

10) Round 30.915 to 1 significant figures.

Answer: ____________

11) Round 30.915 to 1 significant figures.

Answer: ____________

12) Write 0.7 in standard form.

Answer: ____________

13) 154/7 x 912/13

Answer: ____________

14) Solve 12f2 - 9f - 1 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

15) Find the median of the following set of data:

24, 31, 18, 32, 3, 11, 21, 15, 25, 36, 
13, 3, 16, 30, 19, 23

Answer: ____________
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16) Find the value of 'q' by completing 
the square of the following equation: 
2 + 12q + 20

Answer: ____________

17) m-20 / m20

m19

Answer: ____________

18) Find area of 
rectangle having 
sides a = 1000 ft 
and b = 684 ft

Answer: ____________

19)
64

1 /6

Answer: ____________

20) An amount was decreased by 4.6% to 
$174.00. Find the original amount.

Answer: ____________

21) Find the mean of the following set of data:

0.6, 0.6, 0.7

Answer: ____________

22) Find perimeter of 
triangle
a = 951 cm, b = 998 
cm,
c = 999cm

Answer: ____________

23) 860.8 + 606.2

Answer: ____________

24) 2 x (-38)

Answer: ____________

25) Factorise q2 + 6q + 9

Answer: ____________

26) (-350) - 764

Answer: ____________

27) Convert the following mixed number 
1016/19 into an improper fraction.

Answer: ____________

28)
29

Volume of Cone 
29

Answer: ____________

29) 3 x (-47)

Answer: ____________

30) Round 29.8265692 to 5 significant 
figures.

Answer: ____________
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31) Find the mean of the following set of data:

27, 0.5

Answer: ____________

32)

'Name the type of angle.

Answer: ____________

33)

'Name the type of angle.

Answer: ____________

34) 130 - (-998)

Answer: ____________

35)
31  Find Volume of 
               30       Cylinder 

Answer: ____________

36)

'Name the type of angle.

Answer: ____________

37) Factorise 7x2 + 26x + 19

Answer: ____________

38) Find the percentage change from 1.1 
to 37.4

Answer: ____________

39) Find perimeter of 
rectangle having 
sides a = 988 in 
and b = 939 in

Answer: ____________

40) Write 1 x 10-1 as a normal number.

Answer: ____________

41) Find perimeter of 
square having each 
side (s) equals 328 in

Answer: ____________

42) Solve by factorising 
j2 + 11j - 12 = 0

Answer: ____________

43) Simplify 34:48

Answer: ____________

44) 05:16 am To 11:01 am

Answer: ____________

45) Convert the following mixed number 
1214/5 into an improper fraction.

Answer: ____________
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46) 764 + (-363)

Answer: ____________

47)
196

4 /8

Answer: ____________

48) Solve by factorising 
x2 + 1x - 12 = 0

Answer: ____________

49) (-66) ÷ (-33)

Answer: ____________

50)
64

10 /12

Answer: ____________

51) Find the mode of the following set of data:

48, 48, 100, 100, 100, 100, 100, 26, 
26, 8, 8, 8, 65, 65

Answer: ____________

52) b

a o c
Measure angle boa 

Answer: ____________

53)
Find the next three numbers in 
the sequence
20,15,30,25,50,45,90__,__,__

Answer: ____________

54)
Find the next three numbers in 
the sequence
20,15,30,25,50,45,90__,__,__

Answer: ____________

55) 1600 ÷ 100

Answer: ____________

56) Find area of square 
having each side (s)
equals 566 in

Answer: ____________

57) Write 0.0007 in standard form.

Answer: ____________

58) 35 x 10

Answer: ____________

59) 14/
20 ÷ 18

/8

Answer: ____________

60)
Find the next three numbers in 
the sequence
9,10,30,31,93,94,282__,__,__

Answer: ____________
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61) (10 x 27) / (2 x 4-2)

Answer: ____________

62) Solve by factorising 
x2 + 8x - 20 = 0

Answer: ____________

63) Find the range of the following set of data:

-17, -15, 7, -17, 0, 18

Answer: ____________

64) Find the range of the following set of data:

-17, -15, 7, -17, 0, 18

Answer: ____________

65) Find area of 
rectangle having 
sides a = 1000 cm 
and b = 999 cm

Answer: ____________

66) 1119.3 ÷ 28.7

Answer: ____________

67) 1119.3 ÷ 28.7

Answer: ____________

68) 10/1 + 20/8

Answer: ____________

69) 10/1 + 20/8

Answer: ____________

70) Convert the following improper 
fraction 17/16 + 111/17 into a mixed 
number

Answer: ____________

71)
26  Find Volume of 
                         Pentagonal Pyramid 

25
25

Answer: ____________

72) Write 0.001 in standard form.

Answer: ____________

73) 'What is the probability of rolling a 
multiple of 2.when rolling a dice

Answer: ____________

74) Find perimeter of 
square having each 
side (s) equals 200 ft

Answer: ____________

75) 863.9 + 239.1

Answer: ____________
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76) 999 + 841

Answer: ____________

77) Factorise j2 + 9j + 20

Answer: ____________

78) Factorise j2 + 9j + 20

Answer: ____________

79) Solve 7d2 + 12d - 6 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

80) (-459) ÷ (-27)

Answer: ____________

81) Write 7 x 10-3 as a normal number.

Answer: ____________

82) Find area of 
triangle s = 851 m

Answer: ____________

83) Solve 14x2 + 20x + 3 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

84) 91/3 ÷ 68/12

Answer: ____________

85) 128 + 315

Answer: ____________

86) Solve 4s2 - 8s - 5 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

87) (-430) - 484

Answer: ____________

88) A number is chosen at random from 
1 to 50. Find the probability of 
selecting number less than 12.

Answer: ____________

89) Find perimeter of 
square having each 
side (s) equals 582 in

Answer: ____________

90) 34.7 x 35.3

Answer: ____________
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91) 128/9 ÷ 121/4

Answer: ____________

92) 37.8 x 29.8

Answer: ____________

93) 896 x 246

Answer: ____________

94)
30  Find Volume of 
                         Square Pyramid 

29
29

Answer: ____________

95) 994 - 992

Answer: ____________

96) 11/5 + 1/18

Answer: ____________

97) Decrease 68 by 2/17

Answer: ____________

98) 542.5 + 569.1

Answer: ____________

99) Decrease 35 by 55%

Answer: ____________

100) (-570) ÷ 38

Answer: ____________

Total: ___ / 100
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